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goboboodobbobuooobbibdsfdd forward U0 O UOOOOODOOO0OODOOOOO
gbboobbobobuooboboobboobbobboobuoobboobboobbo
1t 0 1left 0000000000000 000O0O000O0O00O0O0OO(@MOOOO)O0O00
gbogobobo400000000D00D0DOODOObO0ODOd

000 LoGoO00OOoOO0o0O0oOoOoUUUg ogoopoooooooooDOOOOOO)/o
0000000000 COoOooOoOOoOoOoOoOoOoOo(oooooOo ,oo0o00) O 00
ggooobod

gobboooobbobooobooboboolobooooobboooobbbooon
Ui 0000000000y 0O0000D0DbO0O00b0bObboo0o0bbboooon

U 1. 00000000oood
ERN gooo |00

fd OO0 forward 1 ooodooooooooo

bk 00O O back 1 goooooooooao

1t 000 left 1 000000 (Doooo)ooo

rt U0O0O right 1 000000 (Dooo)ooo

setxy 2 goddooooooooboooooa

setx 1 Uododo s0boobouooobuoooooo

sety 1 00000 yOoOoooboooooooogao

setheading 1 goooboooooooooooobooooooon
Ooddoodobooooooooooonoa

home 0 0000000000 (Cooooooo)oooo

arc 2 gooboodoooooooo200o0oooooon
godooboil1obooooooooooooo

penup 0 ogoooooooboooooooooooooooon
ogogog

pendown 0 ogoooooooboooooooooooooooon
ogogo

clean 0 goouoooooo

clearscreen 0 godoobooooooooooboooonoo

showturtle 0 gooooooood

hideturtle 0 ooodoooooooon

wrap 0 000000000000 /0O00ooOooooooo
ooooo

window 0 goooooobbooooooooooooooon
ogoooood

fence 0 goooooobbooooooooooooooon
goddooooooooooooooooa




UodddbooboobotD print DOUOOOOOO0OOOO sum, difference,
product, quotient UU OO UOUOMOOOOlessp, greaterp U U UOOOOOOOOOODNO
0000000000 00oooooooo+ -/, <,>00000000000000

Ub0oobuoboinD repeat DOO0DOOO

repeat 4 begin £d(100) 1t(90) end
O00000000000000000000OODbeginendJ00OO(MOODOOOO 10O

O00D0)0000000000 if0 (elseJ0000D)0000O0ODODOOOOOOOOO
O00000OOproc (00D0OOO to)J0ODOODODODOODOOOOOUO100D0OODO

proc (0000 ) (OOO,) ... (000,)

00000000000000(0000O0O0O)00000O0O000O000O 0000 (O

00000000oo0)obooo0000U00oo0ooDoooO00O00ooOO0 Yooooooo

gbbuodbbuoobbuoobboobdobbodbendbgbboooboobboob

gobbooobobbogobboooobbooobbooobbbdd stopbdgd

O000O0output(...) OO0OOOOODOODOOOO
gobbbooogobboboooobood

proc tree :n

if :n < 5 then stop

fd(:n)

1t(30) tree(product(:n, 0.7))
rt(60) tree(:n * 0.7)

1t(30) bk(:n)

end

tree(100)
0O0DoOoooo
. 0000000000000 0OD0O00000D0OO0O /00000000000 OoOO
2. 00000000000D0000

. 0bbugoobobbuoooobobouogbobon

gobobooggobooon

2 JOooooogoo

gobbobuogoobbooooboboboooobobogo

gogbb gobbbbbuoooooobbbbbuoooooobbbbbouooooob
0000000000 (teken) 00000000 DODOOOOOO
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gogdd ggoouobbuoodoouobobbboooobobobbuoooobobbbbuoo
0000000000000 (00000 0OoOoO0O00O0)0D0DooOoOoOoOooOoOO
gogbbobbooouoobbuooobubboooobbbuooooobbbooo
O00000000000000000 (abstract syntex) 0000000000000
0000000000000 00o0ooo00 0000 (contrete syntaz) 00000
goooobbooooooobbuooooobobobboooooobbobuooo
0 O (abstract syntaz tree) 000000000

gogboobobood boooboboboooooobobbooooboboboo

O0O0D00#£4(100 + 10 * 2) 00000000000 O00000000000000
000000000 £4, 000000 (00 10000000 + 00 10,0000 %, 00
2, 000000 )00000000000000000000000000000000
00000000000

call

N

N
N

2
Oo0o0o0obDo0oobooo0oooOoOooooooOooobooooOoobDooOooobooDooboOo
ooo

000000000000 00b000n0 webOOO http://www.graco.c.u-tokyo.ac.
jp/"igarashi/class/syslablIOl. html OO OO0 00000 OO0OODOODOOODOODOO
oooopbooo0o0ooOooO0oOoboOoooDbo0oooDboOooooDbOoooooboOoo
OO000oo0o0ooooooo

000000000 0DO0O000O00DObO000O00DObO0Ob00O00DMakefile 00O
0000000000000 0DODO00DOooooO0ooooOoooDo

touch .depend
make dep
make
Udb0O0OlegoUbnonoooobboboogoobbogn
gooooooooobogoooboobobobobobobobobobobbUbOkterm
gogooobod

ocamlmktop -o test str.cma graphics.cma scanner.cmo ...
gobboboggobbboodil .emo 00O OOOOODOStr, Graphics, Scanner

ggbbbuooogbbbuoobobbbuoobbbboodbbbDetest00uggn
gooood
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U bOoOooobbooobboodbbbdd openUgdnbbooonbbooon
gboogod

igarashi@quena:logo> ./test
Objective Caml version 3.02

# proc_id;;

Unbound value proc_id

# Parser.proc_id;;

- : string Parser.phrase = <fun>

000080 0000000000000 O0ODOO0OO0O0 (W) 0000000000 .m1 O
gbobodbogoboogbobboobudlb mlidgoobooobbddl omli O
.cni 0000000000000 0O00O0000000b0000b000

2.1 Scanner U0 QO Q0O0O

gbgboboboobobuobotoodbdbUdteken D000 ooooboooon
gobobboobooboobooboooboooooboobobo4000b000O0b00nbn
oo

oodbodbdd scanDU0OUO0OOOOOOOOOO str 00000 string_match,
regexp, matched_string 100 0000000000000 O0OOOOOOO(ODOOO
0000 @4o00)00ooooo

ERERE

# Scanner.scan "fd(100,200) ( + 2.3(";;

- : Scanner.token list =

[Scanner.ProcId "fd"; Scanner.Sym "("; Scanner.Num 100; Scanner.Sym ",";
Scanner.Num 200; Scanner.Sym ")"; Scanner.Sym "("; Scanner.Sym "+";
Scanner.Num 2.3; Scanner.Sym "("]

Exercise 10.1 (* missing *) D0 0O0O0OO0O0O0OOO scanner.ml JO0O0OOOOOO0O
000 -to0D00DbO0ODOOOOOOODODOD

Exercise 10.2 LOGO 00000000 ;0000000000000 scanner.ml 00O
O000000000000O000000(CooooO0o0o0oooOooooooooDon)

2.2 Parser 0 O00O0O0O

ooooboobobooooooobobooooooboobobooboonog LoGo g
gobboboooobbboodil syntax.ml JOOOOOO



0000000000000 0 (000)00ooooooO000ooooooooooooo
gbogboobobobgooobooboboobobobboobobooooobooobon
gobbobuoooobbbdd ’alll ’a phrase JUOO0O0OOO

type ’a phrase = Scanner.token list -> ’a * Scanner.token list

e proc_id 0 string phrase 0000000000000 00000O0OODOOO0O(O
000000000000000000 SyntaxErr 0 raise 000 )var_id 000
gbooobuobd0bDnmd0OoooOOoO

e keyUUDUDUOUUOUkey sUULODOOOUOOOOOODODODOO sOODOOOOODO
U0 ggobbbobobbbboibooooouobbbbbil unit phrase 00U
gubib symoonooog

e (phraser) || (phrases) 00 (00 00)00000000 “r” 000000 OOO
00000000 (phrase;) 0000000 (0DO00)0D (phrase;) 000000
guooooooon

e (phrase;) ++ (phrase;) 00 0000000000000 O0O00OO0DODOOOOOOO
00000 (phrase;) 0000000000 0O0OOO (phraseo) 0000000000
gooooooobbbbboooboooogad

e (phrase) @>> (00 ) 00 (phrase) 0000 (00 )00O000000000000
00000000000000000000000

e repeat (phrase) O (phrase) 000 0000000000000 O0O0OODOOODOO
goooooood

e after_sym (00000 ) (phrase)y 00 (00000 )DO0O0O (phrasey 00O OO0
O000000000000000((phrase)y 00000000000 after_key 00O
goodd

gudd OO0 openU ++0U0UOUOOOODOOOO0O0OOOOOOLULOOODOODODOO

# open Parser;;

# (proc_id ++ key "if") (Scanner.scan "fd if (");;

- : (string * unit) * Scanner.token list = ("fd", ()), [Scanner.Sym "("]
# (repeat proc_id @>> List.rev) (Scanner.scan "a b c :a (");;

- : string list * Scanner.token list =

["c"; "b"; "a"], [Scanner.VarId ":a"; Scanner.Sym "("]

# (num ++ sym "+" ++ num @> fun ((x, _), z) -> x +. 2)

# (Scanner.scan "10.2 + 3.4");;

- : float * Scanner.token list = 13.6, []



Exercise 10.3 0000000000 (O:1.0+2.0-3.004.2-41.4)000000
00000000000000000000000000000000 (00 string -> float
ooooo)oooooo

2.3 Syntax 00000

OO00Oparser DO OOOOO0OOOOLOGOODOOOOOOOOODOOOOODLOOODOO
00000 (00DooO00000DDOOO0000O0O0DoOooOO00UooooOoOOoO0 100
Uoddibbpeci000OODODOOOOOOOODO0f UUOUO string * string list U
O00000000000000)000 t,toplevel 0O OO0DOOOOOOOOOOO
gboobooboobob togbooboobooboobood

g0o00o0o0oO0oO0O0O0OO0O0OD (DOO0O0OUOO0)ooo LoGooooDoooooDOoOoO
goo

(00D000) == <D>
(0) == (00)|(00)|(repeatD ) | (0OD0ODO )| (000)|(DODOODO)
(repeat 0 ) == repeat (O4) (Oy)
(0000 ) == Dbegin(O;y)...(0,) end
(000 ) == if (O;) then (o) else (O3) | if (O;) then (Oy)
(00D0O0D0) == (00D00) () |(00D00)((00000)
(00000 ) (0))|(0),(000D00)

00000000 (0)OOODOOOD)OODODUO0ODODO0O0O0O0O00O0O00O00000 expr
00000000 (0 )00Dooo0o00UoooDooooOooooooooooglll -
gbobobobobooboboboobobuoboobobobooooboboon
U0000obu0oboobUd repddbbdde>dodoboooboooboon
gbobooobobobobobobuobooobobdillet rec and 0000000
googo

2.4 ProcEnv [0 ValEnv OO O0OO

gobogdgbbuodgbbuobbbodobboobboobboobbuoobbboon
goboboboogdobbbuoooobibibd procEnvUOOOOO0ODOOO t0O0O0OO0O
0000000000000 00000 (prec) 0000000000 OOproc 0O DODOO
0000000000000 000000000DO00ooOoMLOOOO(@MOODOOOQ
Prim) 00 0000000000000 0 (0000000 Def)D0O0OOODO float list
gbobogdgbbuogbobooobbooboobbooobboobbooobboon
gbbobogboboobbobobogboobboobuooboobbooboobbobn



00 add_ def 0000 (00000000 DO)0D0O0O0000O0OOOODOOOOOOOOO
ooooooooooooboooo0o0ooooooobobooooooooOoooooLoOGoO
gbbogoogbbuogbbuooobooobbodgbbooooobobooboabn

Exercise 10.4 valEnv.mli OO0 00000000 OvalEnv.ml OO0 O0OO0Oadd OO0
Jdddddddd000ddddddoooooobobobo0dd0ooooOoooOoooao
00o0o0o00000d0ddd0dddd00ooOoooOo0oooooOoOoOoOoOoOoOooOoOoa
000000000000 C00O (COoo0O)000O0OO0DO0U0OoOCOO0D0DUODoDOoOoOoOoOoood
000000000000 0000000(o0O0o0oO0O0D0O0D0DoOOo0D0bOoOO0O
ooooon)

2.5 Primitives 00O 0O OO

gbobboobobobobobooboooooboboooooooooboobobob
O0000000000D00OD Graphics DOODDOOOOOOODOOOODOODOO OCaml
00000 @doooooooooon

forward 0000000000000 O0ODOODOOO0OODO((CODOOOODOOOOO
O00000000000)00000float list -> Syntax.t 000000000000
000000000000 00000 O000000000000 (primitives.mli OO
000000)000000000000000D0 turtle00000O0O0OO0ODOOODOOO

O000Graphics 0000000000000 OOOOOO0OOOO0OOODO/00000O
gboobuobobobbobiboobudbdidlrad_of_degDOO0OOOOOODOOOO

gobbobuooobbbooogbbbudd init_env 00000 ooOn

Exercise 10.5 0000000000 move 000000000000 ODODOOOODOO (O
O0D0)0000000Graphics 0000000000 x00y0000000OODOOO

2.6 EvalOOOOO

gobobbbbbtbdidleval UOOOODOODDODOOOOO0OODODODOOOOOOO
000000000 (0000)000000O0O00000000000000000o0Oo-d
gooboon

e 10000 DDOOO (Number, Bool,Void) 00D ODOODOOODOOOOOOO

e DD begin ... end, repeat U U UUOOOOOOOODOOOOOOOOOOO
Uobodbboobboooboobibd ensure_void DO ODOOOODOOOOOO
goon



e JOUUOOODLODLDOUOOODLDDOLDDOUOOUODDDOOapplyddon
O0000epply 000000000000 OOOOOODO (ProcEnv.Prim0000
OO00)00 MLOOOODOOOOOOO

U0 read_eval_loop DU DOUOODOOOOOOOODOOODODOOOOODDOOODOOOO
db0O0O0Oignore O ’a > wit U OO0OOOOO0OOOO0O0O0OOOOOOO0OO
(; 00)00OO0DO0DO0DO0DOOO0OODOOOOOOOOOO0OO0O0O0 veidODODODOOODOOOOO
0000000 oCaml OO ; 0000O0O0O0OOOOOOOO (C...;...;...) 00000
000 begin,end D000 OOOOOO)

Exercise 10.6 if OO0 O0OOO0OOOOOO

2.7 Manm OJQOQOQOQO

gbgbooobobbooboboobobbO0bUd0b0read_eval_loop DO ODOON
gobobbobbouoogobbobbddddlrepeat OO UOOOODOODOOOOOO0OO
gbooobooboobo

3 Uugouoooon

ggbbobuogobbbouoooobbod

e Syntax.toplevel, Eval.read_eval_loop UL U OOOOOOOOOOODODOODON
goobbobooogdbibbstop DUoutput UOODOOOO0OOOODOOOO
googo

e Eval.apply U UUOUUproc UUDUOUOOUDLDDODOOOOOODLOODODOOOODO
ERERE

e Eval.eval DU UUstop Uloutput UU OO DOUOOOOODOOU

gogoooboggn

gbobobdb O0OOsyntax.toplevel UOUODDOODOOOO 100000O0O0DOODO
0000000 (0000000000000 /0000000000000000000
000000000)00oO0O000ooooooo

(00000) == (0)|(0o0ooO)
(00000) == proc(0000)(00O,)...(00,)



O000O0O0ODecl ((UOUO),(000CCODO H)DODOOOOOODOD 2000000
UO00OO0D0O0OOread_eval_loop UUUOUOUOOOOOOOmatch D OO OOOONO Decl [
ooooooboooog

match Syntax.reader (read_line ()) with
Exps es —> ...
| Decl (f, params) ->
let rec read_body () =
print_string "% ";
match Scanner.scan (read_line()) with
[1 -> read_body ()
| toks —>
match
(key "end" @>> (fun
with
a, ) > 1
| (es, [1) > es @ (read_body ())
| _ -> failwith "Syntax error in proc"

=> [1) ||| repeat expr) toks

in

let body = read_body () in

Printf.printf "procedure %s defined.\n" f;
read_eval_loop (ProcEnv.add_def procenv f params body)

O0O0D0 read_body 0 2000000000000 0OOODOOOOOOODOOODO %00
gboglogbooboobboobuodbobobobobooboobooboobobon
gobbooogbbobbuodbbbuodbbbU0dd repeat expr UOUOOOODO
gbobbogdgbbuoobobooobb200bbo0obboobodgbdmateh0 00O
gbbuogbbuobbuobiil end0D0000D0DOD0DUOOO0DOOO read_eval_loop
goon

Exercise 10.7 Syntax.toplevel DU DO UODOOOODOODOODOODOODOODOODODODO
ggil1oboboogoboobooboooon

Exercise 10.8 stop 00 output U0 OO0 ODOOOOO Syntax DO OOOODOOOOO
0000 Syntax.expr DU O UOOOOOOO0OOOO

and expr toks =

(num @>> (fun n -> Number n) ||| var_id @>> (fun s -> Var s) |||
rep ||| begin_end ||| conditional ||| output ||| stop ||| proc)
toks

Uboooubdibd stopUUoutput UOUOOOUOOUODOD Syntax.stop, Syntax.output
gboboooogo

(O0) == | ({outputO )| (stopO ) | (0O OOO)
(output 0 ) == output ( (O ))
(stopd ) == stop

10



OO0OOsyntax.expr DOOO0OO00O | D00000O00O00ODOOO0OOOOOODOO
gbogobgobobbobboboobooboobo

and expr toks =

(num @>> (fun n -> Number n) ||| var_id @>> (fun s -> Var s) |||
proc ||| rep ||| begin_end ||| conditional ||| output ||| stop)
toks

gobbbud Eval.epplyUOOUOOOO0OOOOOO0OO0ODOOOOODOOOOOODO
gbbodbooobuobbooboooobbodbogppetgbooooboon
gboboooobobgoooobobooboboboobobobooboboboon
gogooboboooon

Exercise 10.9 Eval.apply OO DOODOOOO

gooobd booboobuoobuoobobbobboboobooboobo

gbobooooooboboboboboooooooooobobobobobobob
U0 Return U raise UUUUOO0OODOOOO0OO0OOOOSstop, output U0 UOOOM
gbooobooboobo

let return v = raise (Return v)
let rec apply valenv procenv args = function

and eval valenv procenv = function

| Output exp ->
let v = ensure_nonvoid (eval valenv procenv exp) in
return v

| Stop —>
return Syntax.Void

Exercise 10.10 0000000000 O0ODOOOOOstop, output D0 OOOO raise O
U0 Return U O OOO0ODODOO0O0O00O0O0OEVval JOOODOODODODOOO0OOOOOOO
gbooobuoobooboooboon

4 O0O0O0O0OO0O0O0O0O

gbobogdgbbuogboboooobbuooobbooobbuooobooobbobobon
gogbobobooogbbobodo

(0) == (0)+(0 ) [ {0 )=(0) [(0)*(0 ) | {0 )/(0) [(08) [ (0)
00000000000000000000000000000

11



let rec expr toks =
(expr ++ after_key "+" expr ||| ...) toks

gobogobbobboodbbugboboobboobbooobbuooobboob
oooogobbbbobbibiDD expr oo bbbbobobobobbb
0000(0)0000000000D0ODO0O0O0O0O0O00000O0OO000000O0O0Od
O0000000000000 (left recursive) DO0O000O0O00O0D00O0O0O0OOOOOO0O
0'00000000000000000000000O000O00O00DOO0O0O0O0O
0000000000000 0000000000O0O0O0O000000O0 Muooooo
gogboood
gogbbbuooobboboooobobuoooobboooon

(00000) == (0)[(00000)
(00000) == proc (0000 ) (00, ...(00,)

(0) == (0O00)<(000)[(000)>(000)|(000)
(000) == (000)+(000)|(000)Y-(000)|(000)
(000) == (000) =« (DDD>HDDD>/<DDD)HDDD)
(000) == ((O))|(0O)|(00)]| (repeatD ) |(0O0DODO)

| (000) | {output O ) | (stopD ) | (0D OO0 )
(repeat 0 ) == repeat (Oq) (Oo)
(0000 ) == begin(U;y)...(0,) end
(000) == if (O,) then (O,) else (Og) | if (O4) then (Oy)
(output 0 ) == output ( (O ))
(stopd ) == stop
(00D0O0D0) == (0000) () |(0000)((00o00o)
(0oooo) (0))[(0),(00000)

Exercise 10.11 000000 (0)0000000000000000000000000O0
+ -% /,<,>00000000000000000000000000000000 1 + 2
0 Plus (Number 1.0, Number 2.0) 0000000000000 00OPWs 000000
00000 eval 00000000

5 Uooobooon
Exercise 10.12 000 00000000000000000
e 00000DDODOOOOOD

e JOUUOUODLODDOUOOODLDLDUOUOODLDLDOUOUDLDDLDOOOODLO

'0000000000000000000000000 (tep down parsing) 0000000000000
0000000000000000000000000000000000000 (bottom up parsing) 0 00
gpboboooog

12



e UUIUOODDOUOUODDDbDOOOO
e wrap, window, fence U U U U

e showturtle, hideturtle U 0O 0O OO

e UUIUOODDOOUOUODDDOOOO

ggboooboogn

Exercise 10.13 0000000000000 DO0OODOOODO LocoOOOOODOOODOO
00000 /00000000000000D00O000000) 000http://ajlogo.com/
OJawvalO0OODOOO LOGOOOODOOOOOODODOO LOGOOOOODOOOO
O0({@O0o0oOoDoooOoOO0OO0OOoDoODoODOOO0OO0O0OO0ODODODODODOOOOOCOCOOO)ODOOOO
gogno

A 000O00O0O:00002/8

0000000000000 000000000000000000000000000
0000000000000000000000000000(000000000000
0000000000)000000000000000000000000000 (000
0100000)000000000

0000: 10.1, 10.4, 10.5, 10.6, 10.7, 10.8, 10.9, 10.10

gboboobdgo:. olobbobbobooboob
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